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Flag Coordinates

X points to the right
Z points upstream, out of page

Looking Downstream at flag 4



Survey Coordinates

X points to left
Z points downstream
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Post-Run Survey

Values in Survey Coordinates

Coordinates of element center wrt

hominal beam axis
» units in mm
» zdistances from z=0 at solenoid

center
Element | {X, v, 2}
MTV.454 | {+8.7,+6.3, -5893.95}
MTVA4384 | {+13.4, +4.6, -4230.95}
HgWUp {-1.5,-10.0,-742.95}
HgWDo {+57.0, -26.0, +2950.2}
Hgz=0 {-1.0,77 0.0}
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Possible sign error in Survey:
Maybe window coords of window
center should be (-1.5,10)



Flag 454

Values in Flag Coordinates

Nominal Beam Position @

Nominal beam i
In Flag Coordinates

(8.7,-6.3) 8.7mm




Flag 484

Values in Flag Coordinates

Nominal Beam Position @

Nominal beam \ f

In Flag Coordinates
(13.4,-4.6) 13.4mm
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Beam Window

Values in Flag Coordinates

Nominal Beam Position @
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Could be -10 mm if there
was the Survey error
considered on the slide 6.
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lllas’s Window/Beam Position
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nominal position Ay = —5.4153 mm
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Seems to have assumed there
was the sign error considered on
slide 6.
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Vertical Axis, mm

Beam Commissioning

Here, and in the rest of this note, measurements of the beam spot
position in Flag Coordinates are by Hee Jin Park

Day2 Flag 454

T

I I I
Nominal Beamline u

—
o
T

Horizontal Axis, mm

15

Vertical Axis, mm

Day2 Flag 484

L
o
T

L
o

| | |
Nominal Beamline u

4
ol

Horizontal Axis, mm

12



Beam Angle, mrad

Calculated Beam Angles
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Calculated Beam at Window

Day2 beam at window
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Beam Positions - |

Let:

X, Y1, Z; be the beam coordinates at flag 454 relative to the nominal
beam line;

X5 Yo, Z, be the beam coordinates at flag 484 relative to the nominal
beam line;

X3 Y3, Z3 be the beam coordinates at the beam window relative to the
nominal beam line.

Define:

Xy, Y}, 10 be the coordinates of the nominal beam relative to the flag
axes;

X, Ym IS the measured beam position relative to the overlaid grid at
each flag;

X, Y, IS the measured flag origin relative to the overlaid grid at each
flag.
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Beam Positions ||

For flag 454 X; = X1 —X10 — X1p @NA Y1 = Y11n —Y10 — Yib.
For flag 484 X, = X, —Xo0 — Xop @NA Y5 = Yor, =Yoo — Yo,

We then get at the beam window relative to the
nominal beam line:

X3 = X + [(25-2,)/(2,-2,)] * (X;-X4) , and
Y3 = Yo + [(Z3-2)/(Z5-24)] * (Y,-Y1)
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All Analyzed Beam Shots

Extrpolated positions relative to nominal beamline
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All Shots Fine Scale

Extrpolated positions relative to nominal beamline
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